                              Pracovný list
1. Vypočítaj .
6 + 4 =                           3 + 5 =                            2+ 7 =                       3 + 7 =                        6 + 3 =
2+ 4 =                            4 + 3 =                          6 +1 =                        3 +  3 =                      5 + 4 =
9 – 6 =                          8 – 3 =                          10 -  3 =                    7 – 3  =                      10 – 2 =
9 – 4 =                         4 – 3 =                           9 – 3 =                        8 – 6 =                        9 – 8 =
2. Porovnaj . Vypočítaj o koľko je viac alebo menej.
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3 . Doplň správne.
 (
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)              +8                 -10              -5                +6                +1                    + 5            +5              -10


4.  Správne vypočítaj.
Zelených ........... 8 autíčok                                           Kontrola:  Spolu .............        autíčok
Modrých ..........10 autíčok                                                              Modrých ............10 autíčok
Spolu ............... ? autíčok                                                              Zelených.............? autíčok

           ________________________                                         ___________________________

Výpočet :                                                                        Výpočet:
Odpoveď:  Spolu mal Alex               autíčok.           Odpoveď: Zelených mal Alex            autíčok.

5. Vypočítaj.
10 +               =  18                             7  +               = 17                       10 + 2  =      
18 – 10        =                                   12 -  2     =                                    19 -   10 =

                            
                       
         
